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Question Number : 1 Question Id : 3210111001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Vision 2020: The Right to Sight’ — a global initiative for the elimination of avoidable blindness — is a joint

collaboration between International Agency for the Prevention of Blindness (IAPB) and

Options:
1 % World Bank

> % International Monetary Fund

5 « Wworld Health Organization

, w Amnesty International

Question Number : 1 Question Id : 3210111001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 3210111002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the drug of choice for individuals with Glaucoma?
Options:

1 % Paracetamol



> « Timolol

- » Enalapril

4 % Vverapamil

Question Number : 2 Question Id : 3210111002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 3 Question Id : 3210111003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hess Chart test is used in the diagnosis of which of the following eye disease?

Options:
1 % Trachoma

> % Conjunctivitis

-  Diplopia

4 » Exophthalmos

Question Number : 3 Question Id : 3210111003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 3210111004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Onchocerciasis’ is caused by which of the following micro-organism?
Options:

1 % Bacteria

5 w Fungi

% % Viruses

4 « Parasitic worms

Question Number : 4 Question Id : 3210111004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 3210111005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the correct full form of IOL?
Options:

1 % Intra ocular laser



> % Inter orbital lens
z « Intra ocular lens

4 % Intra ocular laser

Question Number : 5 Question Id : 3210111005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 3210111006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following antibiotics is most commonly used in eve drops?

Options:
1 % Penicillin

> « Gentamicin

- u letracycline

4 % Dapsone

Question Number : 6 Question Id : 3210111006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 3210111007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 3210111007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dr. Rajendra Prasad Centre for Ophthalmic Sciences is located in which of the following medical institutes of India?

Options:
, = JIPMER. Puducherry

» » Manipal, Mangalore

o AIIMS, New Delhi

4 w CMC, Vellore

Question Number : 8 Question Id : 3210111008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an epidemic eye infection?
Options:

|« Kerato conjunctivitis



5 w Sjogren’s syndrome

= % Glaucoma

4 % Cataract

Question Number : 8 Question Id : 3210111008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 3210111009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Squint eye is also called

Options:
1 % Miosis

> % Mydriasis

% % Ptosis

4 « Strabismus

Question Number : 9 Question Id : 3210111009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210111010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following types of corrective eye surgeries is corneal transplantation done using a corneal graft?

Options:
; ® LASIK

> & PRK
= % Phakic IOL

4 « Keratoplasty

Question Number : 10 Question Id : 3210111010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 3210111011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 3210111011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which Indian state was the ‘Vision 2020: The Right to Sight’ programme first launched?
Options:

1 % Karnataka

- % Maharashtra
= o Goa

4 % Uttar Pradesh

Question Number : 12 Question Id : 3210111012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
As per the recommendations of the World Health Organization (WHO). how many primary level vision centers are to be

established in India?
Options:
e &% 2{}

Question Number : 12 Question Id : 3210111012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 3210111013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is one of the ingredients of artificial tears?

Options:
, « Hypromellose

o % Xylitol
% % Sorbitol

4 % Menthol

Question Number : 13 Question Id : 3210111013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¢ 2t
frfofea & & #ia @ 3 g & & s 872

Options:

| v EERAEH
o % SEE
o ® ¥M%éhq

4 % GIEE & Ted /| Aewd

Question Number : 14 Question Id : 3210111014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following vaccines helps in the prevention of blindness due to vitamin A deficiency?

Options:
1 % Polio

> % DPT

2 v MMR



4 % BCG

Question Number : 14 Question Id : 3210111014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 3210111015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The yellowish or greenish pigmentation of the sclera of the eye is seen in which of the following diseases?

Options:
1 « Jaundice

- % Tuberculosis
=z % Glaucoma

4 % Trachoma

Question Number : 15 Question Id : 3210111015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 3210111016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pallor of the conjunctiva of the eves is a sign of

Options:
L% Hypertension

- « Anaemia

- % Hypothyroidism

4 % Cataract

Question Number : 16 Question Id : 3210111016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 17 Question Id : 3210111017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a dome-shaped structure covering the front of the eve?

Options:
1« Cornea
- u Conjunctiva

3 % Sclera

4 % Retina

Question Number : 17 Question Id : 3210111017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 18 Question Id : 3210111018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a black circle present in the centre of the eye?

Options:
1 % Retina

> % Sclera
=  Pupil

4 % Cormea

Question Number : 18 Question Id : 3210111018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 3210111019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What is a transparent gel-like substance that makes up four-fifth of the volume of the eye called?
Options:
1 « Vitreous humour

- % Adqueous humour

%z % Solid humour

4 % Saliva

Question Number : 19 Question Id : 3210111019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 3210111020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following organs is the Lacrimal gland present?

Options:
i ® Nose
o B Ear

5 v Eye

4 % Throat

Question Number : 20 Question Id : 3210111020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 3210111021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The opaque. fibrous, white protective outer layer of the eve is called:

Options:
1 # Cornea

> % Conjunctiva

2 « Sclera

4 % Macula

Question Number : 21 Question Id : 3210111021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HE F IR, WER, The FIaTcHs a2 Td I TF Fal Tl &

Options:

| % ST

o & FAYASHET (FAfean)
o » I (FeI)

_ Heger

4 B

Question Number : 22 Question Id : 3210111022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following cranial nerves innervates the eyes?

Options:



g Vagus nerve
> « Oculomotor nerve

% Glossopharyngeal nerve

% Hypoglossal nerve

Question Number : 22 Question Id : 3210111022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 3210111023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is present between the cornea and crystalline lens?

Options:
1 Iris

5 % Pupil

=z % Retina

4 % Macula

Question Number : 23 Question Id : 3210111023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 3210111024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the inner most layer of the eye?

Options:
1 % Cornea

> w Pupil

= « Retina

4 % Lens

Question Number : 24 Question Id : 3210111024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 3210111025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an extra-ocular muscle?

Options:



, w Superior oblique

- % Lateral rectus

Superior rectus

4 + DBuccinators

Question Number : 25 Question Id : 3210111025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 26 Question Id : 3210111026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following cranial nerves supplies the lateral rectus muscle?

Options:
, = Olfactory

- w Optic

= « Abducens

4 % Facial

Question Number : 26 Question Id : 3210111026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 27 Question Id : 3210111027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the reference value of normal vision of the human eye?

Options:
1.« 6/6

2_ ® S.l'fﬁ

Question Number : 27 Question Id : 3210111027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 28 Question Id : 3210111028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following enzymes is present in the tears of the eve?
Options:

| % Lvsosome



5 o Lysozyme

5 # Amylase

4 = Lipase

Question Number : 28 Question Id : 3210111028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 3210111029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following conditions do the eyes get dry and vision is affected due to the deficiency of vitamin A?

Options:
1 % Xerostomia

- % Sialorrhea
5  Xerophthalmia

4 % Scurvy

Question Number : 29 Question Id : 3210111029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 3210111030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the chemical name of vitamin A?
Options:

1 % Calcitriol

- % Ascorbic acid

- » Cyanocobalamin

4 + Retinol

Question Number : 30 Question Id : 3210111030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 3210111031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With the help of which of the following cells can the human eye see colour?

Options:
1.+ Cones

> % Rods



- w Ganglia

4 % Chroma

Question Number : 31 Question Id : 3210111031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 32 Question Id : 3210111032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With the help of which of the following cells can the human eye see in the dark?

Options:
1 & WBC

- # RBC
= % Cones

4 « Rods

Question Number : 32 Question Id : 3210111032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 3210111033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following cranial nerves plays a major role in the Corneal reflex mechanism?

Options:
, w Olfactory nerve

- % Trochlear nerve
z % Cochlear nerve

4 « lrigeminal nerve

Question Number : 33 Question Id : 3210111033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 3210111034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is responsible for the production of aqueous humour in the human eye?

Options:
| « Ciliary body

- % Iris



=z % Retina

4 R Pupil

Question Number : 34 Question Id : 3210111034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 35 Question Id : 3210111035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is the medical term for the excessive constriction of the pupil.

Options:
, » Myiasis

> « Miosis
5 % Mydriasis

4 % Miftosis

Question Number : 35 Question Id : 3210111035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 3210111036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 3210111036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is the medical term for an unusual dilation or widening of the pupils.

Options:
, « Mydriasis

> % Miosis
% % Mifosis

4 w Conjunctivitis

Question Number : 37 Question Id : 3210111037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Both, interference and diffraction patterns are observed in which of the following experiments?
Options:

, + Double slit experiment

o u Single slit experiment



- w lriple slit experiment

4 w Simple slit experiment

Question Number : 37 Question Id : 3210111037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 38 Question Id : 3210111038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When light rays cannot pass through a material, the material is called

Options:
| % Transparent

5 o Opaque

% % Translucent

4 % Radioactive

Question Number : 38 Question Id : 3210111038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 3210111039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When an object allows light to pass through it completely the object is said to be

Options:
| % Opaque

> % Translucent

5 o Transparent

4 % Stable

Question Number : 39 Question Id : 3210111039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 40 Question Id : 3210111040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When an object allows light to pass through it partially the object is said to be

Options:
| % Transparent

> % Opaque

= % Sterile



4 « Translucent

Question Number : 40 Question Id : 3210111040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 41 Question Id : 3210111041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 41 Question Id : 3210111041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the following phenomenon called? Two waves combine with each other and form another wave of either higher

or lower amplitude.
Options:
1 % Reflection

- % Refraction



3 « Interference

4 % Diffraction

Question Number : 42 Question Id : 3210111042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The law of refraction is also known as

Options:
1 % Ohm’s law

> w Law of conservation of energy

z « Snell’s law

4 % Mendel’s law

Question Number : 42 Question Id : 3210111042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 3210111043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following remains constant during the refraction of light?

Options:
1 Frequency

5 u Wavelength

5 % Energy



4 % Mass

Question Number : 43 Question Id : 3210111043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ e
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Question Number : 44 Question Id : 3210111044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following phenomena has a great significance in the design of lenses for the human eye?

Options:
1 % Reflection

- % Diffraction
3 % Interference

4 « Refraction

Question Number : 44 Question Id : 3210111044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 45 Question Id : 3210111045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the unit for prism correction of the eye called?

Options:
1« Diopters

- % Decibels

=z % Millimeters

4 % Coulombs

Question Number : 45 Question Id : 3210111045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 46 Question Id : 3210111046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following prisms is equal to the magnitude of objective angle?
Options:

, = Relieving prism

- » Reducing prism

- o Corrective prism



, = Rotating prism

Question Number : 46 Question Id : 3210111046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 47 Question Id : 3210111047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the medical term used for short-sightedness?

Options:
1 % Miosis

- % Mifosis
5 « Myopia

, = Hypermetropia

Question Number : 47 Question Id : 3210111047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 48 Question Id : 3210111048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the medical term used for long-sightedness?

Options:
, % Myopia

- % Miosis

5 w Mydriasis

4  Hypermetropia

Question Number : 48 Question Id : 3210111048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 49 Question Id : 3210111049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following lenses is recommended for individuals suffering from Myopia?

Options:
1 « Concave

- % Convex

z % Plane



4 w Straight

Question Number : 49 Question Id : 3210111049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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, « Scadl (FleTaeq)
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Question Number : 50 Question Id : 3210111050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following lenses is recommended for individuals suffering from Hypermetropia?

Options:
1 % Plane

5 w Straight

= o Convex

4 % Concave

Question Number : 50 Question Id : 3210111050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 51 Question Id : 3210111051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following devices is used for the assessment of the total refractive status of the eye?
Options:

, = Fundoscope

> w Endoscope

- « Retinoscope

, = Bioscope

Question Number : 51 Question Id : 3210111051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3G T Fo FoaaF Tl F e & o PeafafEa # ¥ fre 3wmtor @ 3wt G S e

Options:

Question Number : 52 Question Id : 3210111052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the distance at which a patient fixates on an object during static retinoscopy?

Options:
{ 8 5m
o o 6mM

= % 5S5mm

4 % OHmm



Question Number : 52 Question Id : 3210111052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 53 Question Id : 3210111053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When a patient fixates on an object at a closer distance or near the plane of retinoscopy. this method is known as

Options:
;% Static retinoscopy

o o Dynamic retinoscopy

- » Functional retinoscopy

, » Fundamental retinoscopy

Question Number : 53 Question Id : 3210111053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 54 Question Id : 3210111054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following methods is used to check for accommodative disorders of the eye?
Options:

| ® Static retinoscopy

5 i Dynamic retinoscopy

- u [Fundal retinoscopy

4 % Fundamental retinoscopy

Question Number : 54 Question Id : 3210111054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 55 Question Id : 3210111055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Where does the retinoscopic reflex originate?
Options:

1 + Between the vitreous humour and retina

> u Between the aqueous humour and retina

= % DBetween fundus and retina



, = Between cornea and pupil

Question Number : 55 Question Id : 3210111055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 56 Question Id : 3210111056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where does the light focus in Hyperopic patients?

Options:
1 + Behind the retina

> % In front of the retina
%z % On the retina

4 % Lateral to the retina

Question Number : 56 Question Id : 3210111056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 57 Question Id : 3210111057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where does the light focus in Myopic patients?

Options:
1 + In front of the retina

- % Behind the retina
%z % Centre of the retina

, w Light does not focus on retina at all

Question Number : 57 Question Id : 3210111057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 58 Question Id : 3210111058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the front apical radius of the cornea of the human eye?

Options:
1 ® 7.7cm

o> o 7.7 mm



Question Number : 58 Question Id : 3210111058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 59 Question Id : 3210111059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the back apical radius of the cornea of the human eye?

Options:
1« 6.8 mm

> % 6.8cm
= % 7.7mm

4 % 7.7cm

Question Number : 59 Question Id : 3210111059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 60 Question Id : 3210111060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the power of the cornea?

Options:
1 % 43 decibels

> w —43 diopters

5 o T 43 diopters

4 % —43 decibels

Question Number : 60 Question Id : 3210111060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 61 Question Id : 3210111061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the normal refractive index of aqueous humour?

Options:
1 o 1.336
> % 10.336

- % 100.336

4 % 0336

Question Number : 61 Question Id : 3210111061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. v 1.336
., = 10.336
- = 100.336

. = 0.336

Question Number : 62 Question Id : 3210111062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 62 Question Id : 3210111062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the average size of a pupil in humans?
Options:

" 2-4 mm

> % 2-4cm
=z % 5-10 mm

4 % 5-10cm

Question Number : 63 Question Id : 3210111063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 63 Question Id : 3210111063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the thickness of crystalline lens in adults?
Options:

1. ® 1-2 mm

o> % 2-3mm
= o 4.5-5 mm

4 % 4.5-5cm

Question Number : 64 Question Id : 3210111064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the normal accommodative power of the crystalline lens at birth?

Options:
1« 15D

Question Number : 64 Question Id : 3210111064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 65 Question Id : 3210111065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the normal accommodative power of the crvstalline lens in a 25-year-old person?

Options:
1. ® 1D

4.« 8D

Question Number : 65 Question Id : 3210111065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 66 Question Id : 3210111066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the most common complication of Diabetes Mellitus?
Options:

, w Neuropathy

> % Nephropathy



-  Retinopathy

4 % Myopathy

Question Number : 66 Question Id : 3210111066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 67 Question Id : 3210111067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the medical term for double vision?
Options:

, % Myopia

- » Hyperopia

= % Miosis

4 « Diplopia

Question Number : 67 Question Id : 3210111067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 68 Question Id : 3210111068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘What is the medical term for the inflammation of the conjunctiva?
Options:

1 % Ofitis

> % Sinusitis

5 w Cryptitis

4  Conjunctivitis

Question Number : 68 Question Id : 3210111068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FFeal 1 g & o Rfecar =g F=2r 82

Options:

. v R

Question Number : 69 Question Id : 3210111069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following diseases is characterised by an increased intra-ocular pressure?
Options:

, = Myopia

> w Hpyperopia



= « Glaucoma

4 % Iritis

Question Number : 69 Question Id : 3210111069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 70 Question Id : 3210111070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a bone of orbit?

Options:
| « Sphenoid

- % Mandible

- = Hyoid

4 % Incus

Question Number : 70 Question Id : 3210111070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 71 Question Id : 3210111071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the normal value of intra-ocular pressure?

Options:
, » 12-22cm Hg

5 o 12-22 mm Hg

5 % 53-10 mm Hg

4 % 5-10 cm Hg

Question Number : 71 Question Id : 3210111071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 72 Question Id : 3210111072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is characterised by increased intra-ocular pressure?
Options:

, w Ocular Hypotension

- » Conjunctivitis



-  Ocular Hypertension

4 % Uveitis

Question Number : 72 Question Id : 3210111072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 73 Question Id : 3210111073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Exophthalmos is seen in which of the following diseases/conditions?
Options:

1 % Diabetes

-  Hyperthyroidism

- » Hypertension

, w Hypothyroidism

Question Number : 73 Question Id : 3210111073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 74 Question Id : 3210111074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Enophthalmos is seen in which of the following diseases / conditions?
Options:

, w Sjogren’s syndrome

- » Hypoglycaemia

3 « Orbital floor fractures

4 % Diabetes

Question Number : 74 Question Id : 3210111074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 75 Question Id : 3210111075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The drooping of the upper eyelid is known by which of the following terms?

Options:
1 % Glaucoma

- % Blindness



= « Ptosis

, = Conjunctivitis

Question Number : 75 Question Id : 3210111075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 76 Question Id : 3210111076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following devices is monocular and produces 2D images of the retina?
Options:

; « Direct Ophthalmoscope

> u Indirect Ophthalmoscope

- u Direct Endoscope

, = Ophthalmic CT scan

Question Number : 76 Question Id : 3210111076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 77 Question Id : 3210111077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following devices is binocular and produces 3D images of the retina?
Options:

, = Direct Ophthalmoscope

> u Direct Endoscope

- u Direct Fundoscope

4+ Indirect Ophthalmoscope

Question Number : 77 Question Id : 3210111077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 78 Question Id : 3210111078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following devices are inverted images formed?
Options:

, w Direct Fundoscope

- » Direct Ophthalmoscope



- u Direct Endoscope

4 « Indirect Ophthalmoscope

Question Number : 78 Question Id : 3210111078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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5 % ERaE UBILHIT
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Question Number : 79 Question Id : 3210111079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about Direct Ophthalmoscope is FALSE?
Options:

1 % It is monocular

> w 2D images are formed

- o Inverted images are formed

, w Canbe used in daylight

Question Number : 79 Question Id : 3210111079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 80 Question Id : 3210111080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements about Indirect Ophthalmoscope is FALSE?

Options:
, = 3D images are formed

> « Can be used in daylight

- » Inverted images are formed

4 % It is binocular

Question Number : 80 Question Id : 3210111080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 81 Question Id : 3210111081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about Indirect Ophthalmoscope is true?
Options:

1« Should be used in a dark room

- % Magnification is more than in Direct Ophthalmoscope



- w Forms only 2D images

, » Field of view is less than in Direct Ophthalmoscope

Question Number : 81 Question Id : 3210111081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 3210111082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 82 Question Id : 3210111082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about Direct Ophthalmoscope is true?
Options:

1 % Should be used in a dark room



5 w 3D images are formed

5 o Magnification is more than in Indirect Ophthalmoscope

, » Field of view is more than in Indirect Ophthalmoscope

Question Number : 83 Question Id : 3210111083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 83 Question Id : 3210111083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following devices is used for the calculation of IOL power in cataract surgery?

Options:
1« Keratometer

> % Fundoscope
- % Retinoscope

4 % Sclerometer

Question Number : 84 Question Id : 3210111084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Slit Lamp test is used for the diagnosis of which of the following diseases/conditions?

Options:
, % Night blindness

- % Glaucoma



- o Sjogren’s syndrome

, = Diabetic retinopathy

Question Number : 84 Question Id : 3210111084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 85 Question Id : 3210111085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the name of the surgical treatment done to correct refractive errors?

Options:
| % ELISA surgery

5  LASIK surgery
5 % BASIK surgery

4 % FESS surgery

Question Number : 85 Question Id : 3210111085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 86 Question Id : 3210111086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the correct full form of LASIK?
Options:

1 « Laser Assisted In-situ Keratomileusis

- » Laser Advanced In-situ Keratotomy

- % Laser Attached Internal Keratoplasty

4 % Laser Advanced Internal Keratomalacia

Question Number : 86 Question Id : 3210111086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 87 Question Id : 3210111087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is done when LASER surgery cannot be performed on a patient?
Options:

| % Cataract surgery

- o PRK



- u Keratoplasty

4 % Medical treatment

Question Number : 87 Question Id : 3210111087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 88 Question Id : 3210111088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the correct full form of PRK used in optometry?
Options:

, « FPhoto Refractive Keratectomy

- » Photo Reflective Keratectomy

- u Proton Radio Keratotomy

, # Photon Radio Keratectomy

Question Number : 88 Question Id : 3210111088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 89 Question Id : 3210111089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an alternative to LASIK and PEK surgery?

Options:
1 « Phakic IOL

- % Cataract removal

5 % Simple IOL

4 % Medical treatment

Question Number : 89 Question Id : 3210111089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 90 Question Id : 3210111090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 3210111090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a contraindication of LASIK surgery?

Options:
, w Hyperopia

> % Myopia
= o Sjogren’s syndrome

4 ® Tumer’s syndrome

Question Number : 91 Question Id : 3210111091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For which of the following refractive errors are cylindrical lenses used?

Options:
, % Myopia without astigmatism

> % Hyperopia without astigmatism

= of Myopia with astigmatism

4 % Cannot be used in refractive errors

Question Number : 91 Question Id : 3210111091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 92 Question Id : 3210111092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the ideal wavelength of light at which PRK surgery is done?

Options:
1 % 193 mm

> o 193 nm
= % 93 mm

4 % 93 nm

Question Number : 92 Question Id : 3210111092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L% 193 fAsh

. v 193 TATH

4 % 93 TAUH

Question Number : 93 Question Id : 3210111093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the most common cause of ocular mortality/blindness in India?
Options:

1« Cataract

- % Xerophthalmia

- u Sjogren’s syndrome



4 w Conjunctivitis

Question Number : 93 Question Id : 3210111093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H oF Foufr AT / 3UTTeT o7 T 3TF HII0T 4T 27
Options:
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Question Number : 94 Question Id : 3210111094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 3210111094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the most common cause of ocular morbidity in India?

Options:
, = Conjunctivitis

> % Uveitis

z « Refractive errors



4 ® Surgeries

Question Number : 95 Question Id : 3210111095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to World Health Organization (WHO). blindness is defined as visual acuity of .

Options:

1« <3/60 in the better eye

5 = 3/60 in the better eye

— 6/6 in both the eyes

, w 0/6inthe better eye

Question Number : 95 Question Id : 3210111095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v TIET @ H <3/60

. « TIET HI@ H > 3/60
- » S HEN H 6/6

4 % TOET 3T H 6/6

Question Number : 96 Question Id : 3210111096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 96 Question Id : 3210111096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the correct full form of NPCB relating to ophthalmology?

Options:

1 National Programme for Control of Blindness

- u New Policy for Counter Blindness

= % National Prevention for Control of BP

, » New Program for Counter Balance

Question Number : 97 Question Id : 3210111097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vyear did the Government of India launch the NPCB?

Options:
|« 1976
5 % 1956

= % 1966

4 % 1986

Question Number : 97 Question Id : 3210111097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. v 1976
. = 1956

- = 1966



. = 1986

Question Number : 98 Question Id : 3210111098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 3210111098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the causative agent of Trachoma?

Options:
1 % Pseudomonas

»> % E.Coli
- o Chlamydia

4 % Candida

Question Number : 99 Question Id : 3210111099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What does the letter S stand for in SAFE strategy?
Options:

, w Safety

5 ® Society

5 % Svstem



4 7 Surgery

Question Number : 99 Question Id : 3210111099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

TRET (T

R

o » WA (WrETSE)

. FuTer (fEeA)

o

o Ueg-RfEEr (F)

4

Question Number : 100 Question Id : 3210111100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Which of the following international organisations has been aiding the Cataract Blindness Control Project in India since

19947
Options:
, % International Monetary fund (IMF)

> % UNICEF
5 % UNESCO

4 « World Bank

Question Number : 100 Question Id : 3210111100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Section Id : 32101118
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 32101134
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 3210111101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of CFL?
Options:

| % Compressed Fluorescent lamp

o % Crystal Fluorescent lamp

3 Compact Fluorescent lamp

4 ® Cool Fluorescent lamp

Question Number : 101 Question Id : 3210111101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

CFL & qUT &9 &7 87

Options:

. » Compressed fluorescent lamp (F9F8 FelIHE o19)

. « Crystal fluorescent lamp (fFFeer weiRdT =)



. » Compact fluorescent lamp (FFiae FARIAE o)

Cool fluorescent lamp (Fd FARIIC o)

4 ®

Question Number : 102 Question Id : 3210111102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Currently who is the Defense Minister of India?

Options:
, w Sushma Swaraj

- % Rajnath singh

= « Nirmala Sitharaman

4 % Smriti irani

Question Number : 102 Question Id ;: 3210111102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 103 Question Id : 3210111103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the nearest planet of Sun?

Options:
1 % Mars

~> % Earth



5 Mercury

4 ® Venus

Question Number : 103 Question Id ;: 3210111103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T &1 Aeeas 7 ia @1 87

Options:

1. ® %Tﬁl’

Question Number : 104 Question Id : 3210111104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is latitude 23%2° N, in the Northern Hemisphere is called?

Options:
, w Tropic of Capricorn

> % Antarctic Circle
- o Iropic of Cancer

4 % Arctic Circle

Question Number : 104 Question Id : 3210111104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 105 Question Id : 3210111105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ant bites. injects which acidic liquid?
Options:

1 % Acetic acid

- % Ascorbic acid
% « formic acid

4 % Tartaric acid

Question Number : 105 Question Id : 3210111105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Sub-Section Number: 2
Sub-Section Id: 32101135
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 3210111106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternatives which is analogues to the given terms:

Kilogram, Pound, Gram.



Options:
1 Decigram

5 % Angstroms

% % Micro meter

4 % Joules

Question Number : 106 Question Id : 3210111106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question Id : 3210111107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Read the question and answer from the given information:

Statement:

1. Some Crayons are Pencils.
2. All the Pencils are Pastels

conclusions
1. All the Pastels are Pencils
2. Some of the Crayons are Pastels
Options:

, # Only (1) conclusion follows

5 of Only (2) conclusion follows

5 w Neither (1) or (2) follows



4 % Both (1) and (2) follows

Question Number : 107 Question Id : 3210111107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id ;: 3210111108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code JUTE is written as QFGV, Then how the word “WALK’ could be written in that code language?

Options:

, & DCGP
5 « DZOP
= % ZCTK

4 % OKUR

Question Number : 108 Question Id : 3210111108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T = 17 9T #, JUTE & QFGV & 9 & /@ J1a7 g, 39 FIF 8 # WALK o= 8 B

FATT3M?
Options:

, » DCGP
. » DZOP
2 ® ZCTK

. = OKUR

Question Number : 109 Question Id : 3210111109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many triangles are there in the following figure?

X

y L

Options:
1. ® 16

Question Number : 109 Question Id : 3210111109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 3210111110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following Venn diagram shows information about number of persons who like variety of types of Chocolates
produced by company ZXYX during a survey in the school LMN

How many students like chocolates of type A and B but not C?

Options:
1 ® 18

2.238
3_5”616

4.;’12

Question Number : 110 Question Id : 3210111110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 3210111111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options: -
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Question Number : 111 Question 1d : 3210111111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Study the following figure carefully. There is an analogues relation between the first and second pairs. Choose the
missing figures from the alternatives such that they form pairs.

Options: -
. Y | '@
V

ARG

Question Number : 112 Question Id : 3210111112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the missing term in the following series.

3, 15,150, 2250, 2, 1125000
Options:

;% 40000

5 45000

= ® 36000

4 % 30000



Question Number : 112 Question Id : 3210111112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

mrafaf@a 4o 7 oca 9 F=2r gem?

3, 15,150, 2250, ?, 1125000
Options:

. = 40000
E.J'45000
- = 36000

4 % 30000

Question Number : 113 Question Id : 3210111113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At present. the ratio of the ages of Karthik and Varun is 5 : 6. After 6 vears, Karthik’s age will be 26 vears. What is
Varun’s age at present?

Options:

1. = 20

> o 24

L
g{
I
ey

Question Number : 113 Question Id : 3210111113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TAAA A, Fifcien 3T T HT Y & 379 5 : 6 §I 6 WA a5 Fiici T 37 26 WA gelT| ToA
F g%ur fr 37 T 2

Options:

1 ® 20
T 24

S ] 26



Question Number : 114 Question Id : 3210111114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If MINER can be written as 13914518, how can RULE be written?

Options:
1 % 1735724

5 % 1810962
3 o 1821125

4 % 192036

Question Number : 114 Question 1d : 3210111114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IfE v Fz 9T #F MINER S 13914518 am =1 @sar g, & 33 &z & RULE = 3 ar =
TeRaT 87

Options:

. % 1735724
. = 1810962
z « 1821125

. ® 192936

Question Number : 115 Question Id : 3210111115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
If L stands for — . M stands for — N stands for %, P stands for +,
then what would be the result of the following expression
‘40N2ZL160P40M207
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:
1 160

- 140



=z 80

4 100

Question Number : 115 Question Id : 3210111115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g L, + # Fwg #ar g, M, - # @F0a Far 8, N, x & &% & g, 3R P, « & @whg
T g, o =T saes = A= F3 e

40N2L160P40M20

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

. 160

. 140
5 80

., 100

Sub-Section Number: 3
Sub-Section Id: 32101136
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 3210111116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 50% of (a—b) = 30% of (a+ b). then what percentofa is b ?

Options:
- v 25%
o ® 30‘1’6

4 % 35%

Question Number : 116 Question Id : 3210111116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TfE (a—Db)FT50% = (a+ b)FT 30%, ar a, b @ g gfaed 22
Options:

Question Number : 117 Question 1d : 3210111117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifx:y = 3:4 .then (4x+ 5y): (bx— 2y) is:
Options:

1.¢ 7

Question Number : 117 Question Id : 3210111117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afg x:y=3:4, @ (4x+5y):(5x—2y) &

Options:
32

L ¥



Question Number : 118 Question Id : 3210111118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 32=729 ,then value ofn is:

Options:
1 = 6

Question Number : 118 Question Id : 3210111118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe V3°=729, @& n & ASA g
Options:

1 ® 5
o ® 8

4 ¢ 12

Question Number : 119 Question Id : 3210111119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Alice purchased a laptop at % th of its selling price and sold it at 8% more than its selling price. Then the percentage of
gain is:

Options:
1 = 100.-’6

2 v 20%



L% 25%

Question Number : 119 Question Id : 3210111119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofer & v el sE R wEE ¥ - Heg W wler AR oW sEd R e @ 8% 3w e W
9| Siaed 8 AT ST’

Options:

Question Number : 120 Question Id : 3210111120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Allen and Benny together can complete a particular work in 4 days. If Allen alone can complete the same work in 12
days, then in how many days can Benny alone complete that work?

Options:
| O days

5 w 1 days

5 w O days

4 w 10 days

Question Number : 120 Question Id : 3210111120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ter HR 30 v Ty e B oW wE # 4 BE §F oW wea § e s vee 3@ R
12 RF & T W FHar §, O 0 aF oy B F 3@ FE A QW W TFHa 82

Options:



5« 8 fot
4 % 10 f&=

Question Number : 121 Question Id : 3210111121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Alexa travels from the town A to town B at 30 kmvhr and comes back to the starting point 70 km/hr. Then her
average speed during the whole journey is:

Options:
1 % 40 km/r

o o 42 km/hr
z % 46 km/hr

4 % 48 km/hr

Question Number : 121 Question Id : 3210111121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TolrdT 9T A T @Y B I & TIT 30 km/hr &7 =TT F I1ET FET § 3T 70 kmihr @ T ¥ 3RS
g X am9w el g1 98 I & g sEehT S T w8

Options:

1 # 40 km/hr
o d 42 km/hr
=z % 46 km/hr

4 % 48 km/hr

Question Number : 122 Question 1d : 3210111122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following diagram. KL = [M.If CK = 2x+ 3 and CM = 4x ., find x.

Options:



2 o 1.5

Question Number : 122 Question Id : 3210111122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR "I & KL2IM| IfE CK=2x+3 J9T CM = 4x, x & AT AT ST

Options:
1 & 1

Question Number : 123 Question Id : 3210111123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sum of money was put at simple interest at a certain rate for 3 years. Had it been put at 2% higher rate, it would have

fetched T 360 more. Then the sum is:
Options:

. % T4000
- % T 5000
- » 6000

4 % 27000



Question Number : 123 Question Id : 3210111123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF T F 3 I¥ F v v BT X W AR s W ORI o1 3fe 39 2% 3= a7 W g
4T g, A e # T 360 #9% greg g & #gu ¥ E

Options:

. % T4,000

, % 5,000
. v 36,000

4, % 7,000

Question Number : 124 Question Id : 3210111124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the measure of an interior angle of a regular polygon is 108. then the number of sides in the polygon is:

Options:
1. 3

2_237

Question Number : 124 Question 1d : 3210111124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
7 v Tafle ageqs & aRa FI0T A9 108 &, o SgefT # e Fr FE; B

Options:
1.« O

gu?
3_-;-‘39

Question Number : 125 Question 1d : 3210111125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The x -intercept and the y -intercept of the equation

3x—4y+ 12= 0 are of the form:
Options:
, = X-interceptis 3, y -intercept is 4

> @ X-interceptis -3,y -intercept is 4
- w X-interceptis 4, y-intercept is 3

4  X-interceptis -4,y -intercept is 3

Question Number : 125 Question Id : 3210111125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

frafof@e g & x AR y - 37 W ia=og g = HfS
3x—4y+12=10
Options:

. x 3T oY gfa=de g 3 8, y T W ufa=og Rig 4 &

x 38T 9 Sfoeog g -3 &, y 3T W afa=og Rig 4

o ®

x ¥eT 9 Fioeog fog 4 7, y 38T W ia=og fog 3

=z &

x HeT 9 Fiaeog fag -4 § y 37 W gfa=oc Bg 3 &

g «F



